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Practice Problems: Measurement

I. Express 549000000 in scientific notation.
|A) 549 x 1078 ([B] 549 x 108 ] [C] 549~ 108  [D] 549 x 10®  [E] 54.9 x 1077

2. Express 506100 1in scientific notation.

[A] 5.06100 x 105 [B] 5.1 x 105 [C] 5% 10° @ [E] 51 x 103
Write 4,251 in standard scientific notation. ’—:\
[A] 4251  [B] 4251 x 1000  [C] 4252~ 10> [D] 4251 ([E] 4.251 x 103 |

4. The number 0.000402 expressed in exponential notation 18

las

[A] 4.02 x 103 [B] 4.02 x 1073 [C]/4.02 x 1074
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[E] 402x10 2 ?7)T dow <
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5. Ong,hi—.loy%n contains this many grams. Lo’ e ,
A] 100Q. - (B] 10 (C] 1/100 [D] 171000 [E] 100

6. How many milliliters are in 0.020 L? e

[A] 200 mL (B]020ml.  [C]20mL  ([D] 20. mb [E] 5.0 mL

The measurement 4.3 x 183.¢ also could be written as
[A] 4.3 dg B] 43 kg [C] 4.3 pg [D] 4.3 mg [E] 43¢

How many millimeters are m 251 centimeters?
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[A] 2.51 x 103 mm [B] 2.5t mm [C] 2.51 x 102 mm
(D] 23T to—2mm [E] 2.51 x 10! mm
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9. Convert: ] cm=__ /0 min. Oﬁ ﬂw{_’& / M‘(: Zﬁm,p
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. Convert: 683 mm = ég~3 cIn.
1. C t 683 _ 043‘(;&,3 //Cg :9_%/(:}

&
10. Convert: 496 kg = Lf“cl b XW mg.

12, Convert:2smL=__ 0. 025 L /ﬂ/zj’
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13. Onc@'egond is equal to how many seconds? = /ﬂ:ﬁ a S@(O}"d
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Al 1073 s [B] 10%s [C] 10705 [D] 103 s [E] 1s

14, The fundamental unit of mass in the metric system is the ’fu—’f/)/ H, (<

[A] milliliter [B] kilometer [C] centimeter ] meter ( /;arb e k rfvjmh ]

15. A cubic centimeter (em?) is equivalent to what other metric volume unit? I

[A] millimeter [B] liter [C] centimeter [D] deciliter Q] mlll@

16. The number of millimeters in 0.101 meter is  &./8/p, v Vi M. /J/mm
im
[A] 9.90 x 103 mm [B] 1.0l x 1073 mm [C] 1.01 x 1074 mm
[D] 1.01 x 104 mm E] 101 x [0 m

17. The number of cubic centimeters (¢cm?) in 43.0 mL is /&Ptg s +ha Camma Th "’y ad-a h"j
[A] 0.0430 cm? [C] 4.30 cm? [D] none of these

15, A student finds that the weight of an empty beaker 15 12.024 g, She places a solid in the
bcaker to give a combined mass of 12.108 g. To how many significant tigures is the mass of
the solid known?

[A] 4 [C] 3 D] 5 (E] 1
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19. How many sigmficant figurcs arc in the number 4.00700 x 10137

Al noncofthese > [B]2  [C]4 (D]6 [E]S 6 9;;',‘?:} s

200 Convert 258 L to mulliliters.
[A] 258 x 107 mL 58 x 10° mL [C] 0.258 mL
[D] 258 mL ] 2.58 mL

21, Convert 561097 mm to kilometers,
[A] 561.097 km [B] 5.61097 x 10!! km [C] 5.61097 km
561097 km [E] 5610.97 km
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